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1. Please check the Test Booklet and cnsure that it contains all the questions. If you find any defect
in the Test Booklet or Answer Sheet, please get it replaced immediately.
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2. The Test Booklet contains 150 questions. Each question carries one mark.
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3. The Question Paper is set in English and translated into Telugu language. The English version
will be considered as the authentic version for valuation purpose.
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4. The Test Booklet is printed in four (4) Series, viz. @ The Series, or or or
@ is printed on the right-hand corner of the cover page of the Test Booklet. Mark your Test
Booklet Series ororor@in Part C on side 2 of the Answer Sheet by darkening the
appropriate circle with HB Pencil.
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Example to fill up the Booklet Series
If your Test Booklet Series is A, please fill as shown below :
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If you have not marked the Test Booklet Series 'at Part C of side 2 of the Answer
Sheet or marked in a way that it leads to discrepancy in determining the exact
Test Booklet Series, then, in all such cases, your Answer Sheet will be invalidated
without any further notice. No correspondence will be entertained in the matter.
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Each question is followed by 4 answer choices. Of these, you have to select one correct answer and
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more than
one cirtle is darkened, the answer will not be valued at all. Use HB pencil to make heavy black
marks to fill the circle completely. Make no other stray marks.
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e.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :
aor (DG SRdong 1 8 waen (2) wonddydy ol & (8ol Do QoSBT

1[@\.\@\@,

Mark Paper Code and Roll No. as given in the Hall Ticket with HB pencil by darkening
appropriate circles in Part A of side 2 of the Answer Sheet. Incorrect/not encoding will lead to
invalidation of your Answer Sheet.
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Example : 1f the Paper Code is 027, and Roll No. is 95640376 fill as shown below :
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Please get the signature of the Invigilator affixed in the space provided in the Answer Sheet. .
Answer Sheet without the signature of the Invigilator is liable for invalidation.
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10.

11.

To change an answer, erase completely the already darkened circle and use HB pencil to make

fresh mark.
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The candidate should not do rough work or write any irrelevant matter in the Answer Sheet.
Doing so will lead to invalidation.
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Do not mark answer choices on the Test Booklet. Violation of this will be viewed seriously.
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Before leaving the examination hall, return the Answer Sheet to the Invigilator, failing which,
disciplinary action will be taken. ] i
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In India, the States get maximum income |6.
from
(1) Sales tax
(2) Land revenue
(3) Agricultural income tax
(4) State excise duties
The top profit making enterprise of the
Government of India is
(1) Steel Authority of India Ltd.

(2) 0il and Natural Gas Commission

(3) Mahanagar Telephone Nigam
(4) None of the above

The poverty rate in India is
(1) 32%
(2) 40%
(3) 835%
4) 37%

India’s industrial policy in respect of
foreign multinationals in recent years
has been

(1) of encouraging them in India
(2) of discouraging them in India

(3) of making their ownership more in
India

(4) leaving them untouched altogether

What is trade point ? 10.

(1) A centrally controlled stock market
(2) An important export forum

3) A world-wide electronic  data
network
4) A forum of Indian financial

institutions
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Which of the following is not a
component of Human Development
Index ?

(1) Life expectancy in India *

(2) Literacy rate and mean years O
schooling

(3) Infant mortality rate

(4) Income

Which one of the following is considered
transfer payment ?

(1) Social security contributions
(2) Subsidies

(8) Grants

(4): 0ld age pensions

Targeted public distribution system h
been introduced in India since

(1)-1991
(2) 1995
(3) 1997
(4) 2001

How can we achieve favourable BoP ?
(1) Stepping up of exports

(2) Reduction of imports

(3) Both (1) and (2)

(4) None of the above

Which theory advocates investmen
large industries for growth path ?

(1) Critical minimum effort
(2) Big push

(3) Unbalanced growth

(4) Balanced growth
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